
https://www.geekcert.com/jn0-1301.html
2024 Latest geekcert JN0-1301 PDF and VCE dumps Download

 

 

 

JN0-1301Q&As

Data Center Design, Specialist (JNCDS-DC)

Pass Juniper JN0-1301 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/jn0-1301.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-1301 PDF Dumps | JN0-1301 Study Guide | JN0-1301 Braindumps                                1 / 3

https://www.geekcert.com/jn0-1301.html
https://www.geekcert.com/jn0-1301.html
https://www.geekcert.com/jn0-1301.html


https://www.geekcert.com/jn0-1301.html
2024 Latest geekcert JN0-1301 PDF and VCE dumps Download

QUESTION 1

You are designing an IP fabric using EBGP. 

In this scenario, what are two ways of designing the ASN scheme for the IP fabric? (Choose two.) 

A. Assign the same ASN to all devices. 

B. Assign the ASN to all leaf devices and a separate ASN to all spine devices. 

C. Assign a unique ASN to each individual device. 

D. Assign the same ASN used by the WAN service provider to the spine devices. 

Correct Answer: CD 

 

QUESTION 2

You are creating a design proposal and deciding whether to use 10 GbE copper or 10GbE fiber cabling to connect your
ToR switches to the servers. 

Which statement is correct regarding this scenario? 

A. Fiber has a lower power consumption on a per-port basis. 

B. Copper cabling requires special transceivers for different speeds. 

C. Fiber is much cheaper to purchase but has a higher long-term cost. 

D. Copper will allow you to reach the greatest distance between devices. 

Correct Answer: A 

 

QUESTION 3

Which two statements describe the Contrail vRouter? (Choose two.) 

A. It is forwarding plane that runs software on a virtualized server. 

B. It extends the network form physical routers and switches into an overlay network hosted in virtual server. 

C. It is responsible for providing the management, control, and analytics functions of the virtualized network. 

D. It provides the logically centralized control plane and management plane of the system. 

Correct Answer: AC 

 

QUESTION 4
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Which two statements are correct about current data center designs? (Choose two.) 

A. Network functions are being virtualized. 

B. Public IP addresses are easy to obtain but not manage. 

C. There is a proliferation of distributed applications. 

D. There is a proliferation of monolithic applications. 

Correct Answer: AC 

 

QUESTION 5

Which two statements are correct about a VCF deployment? (Choose two.) 

A. You are allowed up to four spine devices. 

B. The fabric is managed as a single logical device. 

C. An EX4300 switch must be deployed as a spine device. 

D. You must deploy a QFX5100 as a leaf device. 

Correct Answer: AB 
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